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200 M2l 4,272,000 4,234,000 A38,000
210 BAEAN 2 336,000 322,000 214,000
216 OlXt==& 336,000 322,000 214,000
216-01 ZS30Z3 0k~ 250,000 212,000 A38,000
OlI=Z2OIkt = 212,000
216-02 LIt 3320kt 86,000 110,000 24,000
Eirds=INF=20DN; = 110,000
220 AIE N2l 3,936,000 3,912,000 A24,000
226 =233+ 3,600,000 3,600,000 0
22601 Rltsitzsls=+=g 3,600,000 3,600,000 0
DIpiENE fzaEa = 3,600,000
228 &Y 336,000 312,000 A24,000
22804 MWESLO0IHLN= 336,000 312,000 A24,000
AZEMLL HEK DED
80,000&*302*19024%0.4 = 182,400
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120,000 30290240 .4 = 129,600
600 XIZRH L0 XIZ2l = 7,871,005 5,098,415 A2,772,590
630 Ol xIZ2al= 7,871,005 5,098,415 AN2,772,590
631 OIXI=23l= 7,871,005 5,098,415 A2,772,590
631-01 OlXl=al= 7,871,005 5,098,415 A2,772,590

OIXlZ 3+ = 5,098,415
= 2o g A 12,143,005 9,332,415 22,810,590




